Order of Operations

Perform the operations in the correct order.

1 (1.6 —(=2446.7)+(=5.5)+(—1)) x (5.1+(—6.6))

2 ((—4.548.5x4.8) =3.3) x ((—9) = (—4.5) — 1.3)

3. 1.6+ (=5.1) +9.7+(=9.1) = ((=0.2) x (9+0.4))

4. (=27)+(24+(1.6 x(3+2)))+(-8)=0.5

5. (3.2 (04 (—9.8—(—9.9)))+3.64+6.5) 0.5
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Order of Operations Answers

Perform the operations in the correct order.

L (16— (=2446.7)4(=5.5)+(=1)) x (5.1+ (—6.6))
= 13.8

45+8.5%4.8)+3.3)x ((—9) = (—4.5) — 1.3)
7

3.161%( 51)4+9.74+(=9.1)— ((—0.2) x (9+0.4))

4. (=27)+(24+(1.6x(3=+2)))+(—8)+0.5

= —18.7

5. (3 22 8(04 (—9.8—(—9.9))) +3.6+6.5) = 0.5
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